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OEHIEXZ A 20,000
—SHAHOoH=2 "1195| Y FH" HEES
20,000,000 20,000
& 10,000
= 10,000
HY2A G (o220 (I1EHDIE 18,430 18,430 0
Jl22Z 4l 18,430 18,430 0
Jl22Z | 18,430 18,430 0
201 LBt 3| 7,630 7,630 0
01 AtR22lH| 7,630 7,630 0
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SN o EEE
y H

. HHR2HE
e JI2380l (cte- &
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
Ogt=2H| 7,630,000& 7,630
202 04| 7,800 7,800 0
01 2| 7,800 7,800 0
OENMSE (A, HOIL &4 S)
7,800,000& 7,800
203 LR F&H| 3,000 3,000 0
04 2EASIEYRF=AH| 3,000 3,000 0
ORNSHERFAY| 3,000,000 3,000
XH—?—?%(IHHQE%HEH(%%Q/\‘IQ—JQE/XHH%’XH - al 424,450 336,653 87,797
29
WEHHXI = 424,450 336,653 87,797
IN2EE2 424,450 336,653 87,797
702 Jl=2N8&E23 424,450 336,653 87,797
01 JI2HE2 424,450 336,653 87,797
OMt2e I 2 HEEEH
12,444,926,3132%1/100 124,450
OMt2eIN2 =2 300,000,000 300,000
MPES (WU )(LSSHE/WE - 28) 753,000 778,000 A25,000
=PSPNES 753,000 778,000 A 25,000
e 24E 753,000 778,000 A 25,000
311 X 20| KHAHE 53,000 78,000 A 25,000
02 Al -3 - XYL IS XL 20| AHaHE 35,000 61,000 A 26,000
OXYHeEI2 =2 0lAHAE 35,000,000 35,000
06 JIEFXI 20| XHatE 18,000 17,000 1,000
OMEENZ Ol Atatet 18,000,000& 18,000
601 X2 =S4ast 700,000 700,000 0
02 Al -3 - XYL SALSAS4HE 600,000 600,000 0
OXGEI 2 k=2 234
600,000, 000& 600,000
06 JIEI=LXI S S 4E 100,000 100,000 0
OMEEX= A3 4 100,000,000& 100,000
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